	Waiehu Beach Road Resurfacing Kahekili Highway to Kahului Beach Road												
PROJECT NO.: 3400B-01-10M Net Length of Project: 1.49 Miles										STATE OF HAWAII			
ISLAND: Maui DISTRICT: Wailuku		** NOTE: Quantities shown in		MAUI MASTER BUILDERS, INC.		MAUI PAVING, LLC		JAS. W. GLOVER, LTD.		DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION			
DATE ADVER	TISED: Internet Posting - June 8,2010		this column								HIGHWAYS DIVISION		
BIDS OPENED	BIDS OPENED: June 29, 2010		are for in- house use										
			only.										
COMPLETION	TIME: Forty Five(45) Working Days												
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
209.1000	Installation, Maintenance, Monitoring and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$36,225.00	L.S.	\$7,040.00	L.S.	\$9,400.00	L.S.	\$50,000.00	
209.2000	Additional Water Pollution, Dust, and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	
312.0100	Hot Mix Glassphalt Base Course	400	400 ton	Ton	\$178.00	\$71,200.00	\$199.00	\$79,600.00	\$220.55	\$88,220.00	\$250.00	\$100,000.00	
401.0100	Hot Mix Asphalt (HMA) Pavement, Mix NO. IV	4800	4,800 ton	Ton	\$151.00	\$724,800.00	\$143.00	\$686,400.00	\$162.20	\$778,560.00	\$200.00	\$960,000.00	
414.0100	Excavation of Weakened Pavement Areas	200	200 c.y.	C.Y.	\$121.00	\$24,200.00	\$139.00	\$27,800.00	\$144.00	\$28,800.00	\$300.00	\$60,000.00	
415.0100	Cold Planing	L.S.	1,800 S.Y.	L.S.	L.S.	\$36,311.00	L.S.	\$74,650.00	L.S.	\$70,750.00	L.S.	\$90,000.00	
604.4300	Adjusting Water Valve Cast Iron Frame and Cover	38	38 Each	Each	\$1,667.00	\$63,346.00	\$1,280.00	\$48,640.00	\$1,085.00	\$41,230.00	\$1,000.00	\$38,000.00	
604.4400	Adjusting Sewer Manhole Cast Iron Frame and Cover	3	3 Each	Each	\$1,598.00	\$4,794.00	\$1,280.00	\$3,840.00	\$2,085.00	\$6,255.00	\$1,000.00	\$3,000.00	
604.4500	Adjusting Water Manhole Cast Iron Frame and Cover	7	7 Each	Each	\$1,598.00	\$11,186.00	\$1,280.00	\$8,960.00	\$1,475.00	\$10,325.00	\$1,000.00	\$7,000.00	
604.4600	Adjusting Storm Drain Manhole Cast Iron Frame and Cover	12	12 Each	Each	\$1,598.00	\$19,176.00	\$1,280.00	\$15,360.00	\$1,300.00	\$15,600.00	\$1,000.00	\$12,000.00	
606.0400	Terminal Section Type FLEAT 350	L.S.	6 Each.	L.S.	L.S.	\$23,322.00	L.S.	\$42,250.00	L.S.	\$46,400.00	L.S.	\$60,000.00	
606.0500	Terminal Section Type A	L.S.	1 Each.	L.S.	L.S.	\$5,705.00	L.S.	\$15,900.00	L.S.	\$31,700.00	L.S.	\$10,000.00	
606.0600	Reset Guardrail	L.S.	595 Each	L.S.	L.S.	\$19,864.00	L.S.	\$56,050.00	L.S.	\$61,600.00	L.S.	\$17,850.00	
613.0100	Adjusting Centerline and Reference Survey Monuments	14	14 Each	Each	\$575.00	\$8,050.00	\$1,280.00	\$17,920.00	\$2,345.00	\$32,830.00	\$1,500.00	\$21,000.00	
623.1000	Traffic Signal System Maintenance	L.S.	L.S.	L.S.	L.S.	\$117,671.00	L.S.	\$118,300.00	L.S.	\$116,500.00	L.S.	\$50,000.00	
629.1010	4 - Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion) (White)	L.S.	16,000 L.F.	L.S.	L.S.	\$26,862.00	L.S.	\$39,850.00	L.S.	\$33,350.00	L.S.	\$32,000.00	
<u> </u>		<u> </u>	<u> </u>										

Sheet No. 1 of 4 Sheets

1	Waiehu Beach Road Resurfacing Kahekili Highway to Kahului Beach Road												
PROJECT NO.: 3400B-01-10M Net Length of Project: 1.49 Miles											STATE OF HAWAII		
ISLAND: Maui	DISTRICT: Wailuku		** NOTE:		_	I MASTER	MAUI P	AVING, LLC	JAS. W. C	SLOVER, LTD.	DEPARTMENT OF		
DATE ADVER	RTISED: Internet Posting - June 8,2010	Quantities shown in		BUILDERS, INC.						TRANSPORTATION HIGHWAYS DIVISION			
BIDS OPENED: June 29, 2010		this column are for in-											
COMPLETION	N TIME: Forty Five(45) Working Days		house use only.			:							
	ITEM.	APPROX.	**APPROX.	LINIT LICED	LINIT DDIOE	ANAOLINIT	LINIT DDIOE	ANACHINIT	LINIT DDIOE	ANAOLINIT	LINIT DDICE	AMOUNT	
ITEM NO.	ITEM	QUANTITY	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
629.1011	4 - Inch Pavement Striping (Tape, Type II or Thermo- plastic Extrusion) (Yellow)	L.S.	1,700 L.F.	L.S.	L.S.	\$3,952.00	L.S.	\$6,960.00	L.S.	\$6,310.00	L.S.	\$3,500.00	
629.1012	8 - Inch Pavement Striping (Tape, Type II or Thermo- plastic Extrusion)	L.S.	3,120 L.F.	L.S.	L.S.	\$3,952.00	L.S.	\$3,710.00	L.S.	\$4,510.00	L.S.	\$12,500.00	
629.1013	12 - Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion) (Yellow)	L.S.	250 L.F.	L.S.	L.S.	\$2,073.00	L.S.	\$1,030.00	L.S.	\$1,230.00	L.S.	\$1,250.00	
629.1014	12- Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion) (White)	L.S.	300 L.F.	L.S.	L.S.	\$3,952.00	L.S.	\$191.00	L.S.	\$2,600.00	L.S.	\$1,500.00	
629.1015	Double 4 - Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	L.S.	5,000 L.F.	L.S.	L.S.	\$17,316.00	L.S.	\$47,650.00	L.S.	\$22,100.00	L.S.	\$20,000.00	
629.1016	Yield Pavement Marking (Shark's Teeth Marking) (Tape,Type III or Thermoplastic Extrusion)	L.S.	6 Each	L.S.	L.S.	\$511.00	L.S.	\$505.00	L.S.	\$730.00	L.S.	\$3,000.00	
629.1017	Crosswalk Marking (Tape,Type III or Thermoplastic Extrusion)	L.S.	19 Each	L.S.	L.S.	\$5,217.00	L.S.	\$6,940.00	L.S.	\$9,640.00	L.S.	\$9,500.00	
629.1018	Pavement Arrow (Tape, Type III or Thermoplasti Extrusion)	L.S.	L.S.	L.S.	L.S.	\$8,658.00	L.S.	\$6,120.00	L.S.	\$14,825.00	L.S.	\$16,500.00	
629.1019	Pavement Word (Tape, Type III or Thermoplasti Extrusion)	L.S.	2 Each	L.S.	L.S.	\$511.00	L.S.	\$153.00	L.S.	\$1,640.00	L.S.	\$1,000.00	
629.2020	Type "A" Pavement Marker	L.S.	216 Each	L.S.	L.S.	\$2,331.00	L.S.	\$4,200.00	L.S.	\$2,820.00	L.S.	\$2,160.00	
629.2030	Type "C" Pavement Marker	L.S.	450 Each	L.S.	L.S.	\$3,552.00	L.S.	\$5,090.00	L.S.	\$3,250.00	L.S.	\$4,500.00	
629.2040	Type "D" Pavement Marker	L.S.	300 Each	L.S.	L.S.	\$2,331.00	L.S.	\$255.00	L.S.	\$1,970.00	L.S.	\$3,000.00	
629.2050	Type "F" Pavement Marker	L.S.	10 Each	L.S.	L.S.	\$422.00	L.S.	\$3,580.00	L.S.	\$28.00	L.S.	\$100.00	
629.2060	Type "H" Pavement Marker	L.S.	100 Each	L.S.	L.S.	\$2,331.00	L.S.	\$2,020.00	L.S.	\$1,400.00	L.S.	\$1,000.00	
		<u> </u>											

Sheet No. 2 of 4 Sheets

PROJECT: Waiehu Beach Road Resurfacing Kahekili Highway to Kahului Beach Road PROJECT NO.: 3400B-01-10M Net Length of Project: 1.49 Miles ISLAND: Maui DISTRICT: Wailuku DATE ADVERTISED: Internet Posting - June 8,2010 BIDS OPENED: June 29, 2010 COMPLETION TIME: Forty Five(45) Working Days			** NOTE: Quantities shown in this column are for in- house use only.			MAUI MASTER BUILDERS, INC.		MAUI PAVING, LLC		JAS. W. GLOVER, LTD.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
629.2070	Type "J" Pavement Marker	L.S.	250 Each	L.S.	L.S.	\$2,331.00	L.S.	\$2,940.00	L.S.	\$3,100.00	L.S.	\$2,500.00	
630.0100	Panel for Destination Sign	41	40.5 S.F.	S.F.	\$82.00	\$3,321.00	\$110.00	\$4,455.00	\$121.00	\$4,900.50	\$250.00	\$10,125.00	
630.0200	4.00 lbs./ft. Flanged Channel Post for Destination Sign	L.S.	3 Each	L.S.	L.S.	\$888.00	L.S.	\$1,500.00	L.S.	\$1,650.00	L.S.	\$2,250.00	
630.0300	Type "A" Route Marker Assembly With Post	L.S.	3 Each	L.S.	L.S.	\$799.00	L.S.	\$1,290.00	L.S.	\$1,420.00	L.S.	\$1,500.00	
630.0400	Type "B" Route Marker Assembly With Post	L.S.	1 Each	L.S.	L.S.	\$1,388.00	L.S.	\$1,050.00	L.S.	\$1,155.00	L.S.	\$750.00	
631.3000	Regulatory Sign (10 Sq. Ft. or Less) With Post	L.S.	40 Each	L.S.	L.S.	\$16,339.00	L.S.	\$19,350.00	L.S.	\$21,270.00	L.S.	\$24,000.00	
631.3100	Regulatory Sign (10 Sq. Ft. or Less) Without Post	L.S.	3 Each	L.S.	L.S.	\$866.00	L.S.	\$1,550.00	L.S.	\$1,700.00	L.S.	\$900.00	
631.3200	Warning Sign (10 Sq. Ft. or Less) With Post	L.S.	33 Each	L.S.	L.S.	\$10,545.00	L.S.	\$9,450.00	L.S.	\$10,390.00	L.S.	\$19,800.00	
631.3300	Warning Sign (10 Sq. Ft. or Less) Without Post	L.S.	17 Each	L.S.	L.S.	\$1,998.00	L.S.	\$3,910.00	L.S.	\$4,300.00	L.S.	\$5,950.00	
632.4100	Reflector Marker (RM-3) With Post	L.S.	30 Each	L.S.	L.S.	\$1,454.00	L.S.	\$2,400.00	L.S.	\$2,650.00	L.S.	\$10,500.00	
632.4200	Reflector Marker (RM-4) With Post	L.S.	4 Each	L.S.	L.S.	\$266.00	L.S.	\$880.00	L.S.	\$970.00	L.S.	\$1,600.00	
632.4300	Reflector Marker (RM-5) on Existing Guardrail	L.S.	155 Each	L.S.	L.S.	\$2,462.00	L.S.	\$4,240.00	L.S.	\$4,655.00	L.S.	\$7,750.00	
632.7610	Mile Post Marker with Post (Bi-Directional)	L.S.	2 Each	L.S.	L.S.	\$944.00	L.S.	\$1,050.00	L.S.	\$1,155.00	L.S.	\$1,000.00	
632.8200	Type II Object Marker Without Post	L.S.	50 Each	L.S.	L.S.	\$1,776.00	L.S.	\$3,240.00	L.S.	\$3,560.00	L.S.	\$12,500.00	
643.0100	Maintenance of Existing Landscape Areas	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00	
645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$49,680.00	L.S.	\$62,500.00	L.S.	\$58,250.00	L.S.	\$250,000.00	
											Chast No.		

Sheet No. 3 of 4 Sheets

	TABBEATTON OF BIBS							The state of the s		T		
1	Waiehu Beach Road Resurfacing Kahekili Highway to Kahului Beach Road											
PROJECT NO.: 3400B-01-10M Net Length of Project: 1.49 Miles											STATE OF HAWAII	
ISLAND: Maui DISTRICT: Wailuku		** NOTE: Quantities shown in		MAUI MASTER BUILDERS, INC.		MAUI PAVING, LLC		JAS. W. GLOVER, LTD.		DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION		
DATE ADVERTISED: Internet Posting - June 8,2010 BIDS OPENED: June 29, 2010			this column are for in-								HIGHWATS DIVISION	
COMPLETION TIME: Forty Five(45) Working Days			house use only.									
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
645.2000	Additional Police Officers, Additional Traffic Control Devices, And Advertisement	F.A.	F.A.	F.A.	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00	F.A.	\$25,000.00
648.0100	Field-Posted Drawings	L.S.	L.S.	L.S.	L.S.	\$230.00	L.S.	\$560.00	L.S.	\$890.00	L.S.	\$1,000.00
650.0200	Detectable Warnings	L.S.	5 Each	L.S.	L.S.	\$3,450.00	L.S.	\$5,200.00	L.S.	\$5,700.00	L.S.	\$5,000.00
696.1000	Field Office Trailer (Not to Exceed \$ 32,000.00)	L.S.	L.S.	L.S.	L.S.	\$18,400.00	L.S.	\$32,000.00	L.S.	\$3,200.00	L.S.	\$32,000.00
696.2000	Maintenance of Trailers	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
699.1000	Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item and force account items)	L.S.	L.S.	L.S.	L.S.	\$49,450.00	L.S.	\$74,250.00	L.S.	\$91,361.50	L.S.	\$195,000.00
	SUM OF ALL ITEMS					* \$1,481,408.00		\$1,627,779.00		\$1,731,850.00		\$2,239,485.00
	Hawaii Products Preference					\$0.00		\$0.00		\$0.00		\$0.00
	AMOUNT FOR COMPARISON OF BIDS					* \$1,481,408.00		\$1,627,779.00		\$1,731,850.00		\$2,239,485.00
						* corrected amount						

Project Manager:

Ferdinand Cajigal

Date:

June 30, 2010